ON THE CONTINUED ERLANG LOSS FUNCTION

A.A. JAGERS and Erik A. Van DOORN

Department of Applied Mathematics, Twente University of Technology, P.O. Box 217, 7500 AE Enschede, The Netherlands.

Received November 1985 Revised February 1986

We prove two fundamental results in teletraffic theory. The first is the frequently conjectured convexity of the analytic continuation B(x, a) of the classical Erlang loss function as a function of x, $x \ge 0$. The second is the uniqueness of the solution of the basic set of equations associated with the 'equivalent random method'.

convexity * complete monotonicity * Erlang loss function * equivalent random method * peakedness factor * teletraffic theory.

1. Introduction and results

This paper focuses on the functions

$$B(x, a) \equiv \left\{ a \int_0^\infty e^{-at} (1+t)^x dt \right\}^{-1}, \tag{1}$$

$$m(x, a) \equiv aB(x, a) \tag{2}$$

and

$$z(x, a) = 1 - m(x, a) + \frac{a}{x + 1 + m(x, a) - a}.$$
(3)

For a > 0 and x a non-negative integer B(x, a) is easily seen to equal Erlang's loss function,

$$B(x, a) = \left(\sum_{i=0}^{x} \frac{a^{i}}{i!}\right)^{-1} \frac{a^{x}}{x!},$$
 (4)

which may be interpreted as the probability that an arriving customer finds all servers busy in an x-server loss system in equilibrium, where service times are exponentially distributed with mean ν^{-1} , say, and where inter-arrival times are exponentially distributed with mean $(a\nu)^{-1}$. In the same context m(x, a) and z(x, a) are the mean and peakedness factor (variance-to-mean ratio), respectively, of the stream of blocked customers (see Cooper [3] or Wilkinson [17]); as is usual in teletraffic theory these quantities refer to the distribution of the number of busy servers in an infinite server system to which the stream of blocked customers is offered.

In several teletraffic studies the need arose to extend the definition of the Erlang loss function to non-integral values of x. We mention approximation techniques like the 'equivalent random method' (Wilkinson [17]), 'Haywards approximation' (Fredericks [6]) and the 'decomposition method' (Sanders et al. [13]), and network dimensioning algorithms as in Rapp [12], Akimura et al. [2] and Kortanek et al. [9], where often also derivatives of B(x, a) with respect to x and a are needed. Depending on the application one has in mind there are various ways to perform the interpolation: a simple linear approach was adopted in [9], while Rapp [12] introduced a parabolic interpolation. However, the most coinmonly used extension is the analytic continuation (1) of the Erlang loss function; cf. Jagerman [7, 8].

In this paper we shall prove some properties of the (continued) Erlang loss function which are generally believed to be valid but for which no proofs seem to exist in the literature. Our most significant result, given in Section 2, is a proof of the following theorem, the validity of which has frequently been conjectured (Smith and Whitt [14]).

Theorem 1. B(x, a) is a convex function of x in the interval $[0, \infty)$ for every a > 0.

We remark that Syski [15, p. 603] claims convexity if $a \le 1$, but offers no proof nor any refer-

ence substantiating his claim. If one restricts the domain of x to the non-negative integers, however, then several proofs for the convexity of B(x, a) exist (see Messerli [10] and references therein).

A nice application of Theorem 1 is that it enables one to give a very short proof of the efficiency of resource sharing for M/M/s loss systems; the argument is given in the appendix of [14].

Our second result, given in Section 3, is a proof of the following.

Theorem 2. If $\mu > 0$ and $\zeta \ge 1$, then there is a unique solution $x \ge 0$, a > 0 to the system of equations $\mu = m(x, a)$, $\zeta = z(x, a)$.

Solving the system of equations mentioned in this theorem is an essential step in Wilkinson's 'equivalent random method' [17]. It is obvious that in general there will be no solution with integral x, so that an extension of the Erlang loss function to non-integral values of x is called for. In Wilkinson's original paper [17] this extension is not made explicit. In studies like [8], where explicit use is made of the analytic continuation (1) of Erlang's loss function, the existence of a unique solution is tacitly assumed.

As a by-process t of the proof of Theorem 2 we will show the validity of the next result.

Theorem 3. If x > 0 and a > 0, then z(x, a) > 1.

Again this result is well known for positive integral values of x; different proofs were given by Franker [5], Pearce [11] and Van Doorn [16].

2. Proof of Theorem 1

We start with a simple auxiliary lemma.

Lemma 1. Let $y \ge 0$, $p(u) \ge 0$ and both p(u) and q(u) be increasing functions of u for $u \ge 0$. Then $\int_0^x p(u)q(u)du \ge 0$ as soon as $\int_0^x q(u)du \ge 0$.

Proof. Let $\int_0^y q(u) du \ge 0$. Choose $y_0 \in [0, y]$ such that $q(u) \le 0$ for $u \in [0, y_0)$ and $q(u) \ge 0$ for $u \in (y_0, y]$. Then $\int_0^y p(u)q(u)du \ge p(y_0)\int_0^y q(u)du \ge 0$. \square

Let h denote any increasing, concave and continuously differentiable function on $[0, \infty)$ satisfy-

ing h(0) = 0 and h(t) = 0(t) as $t \to \infty$. For a > 0, $x \ge 0$ we define

$$f(x, a) = \int_0^\infty \exp(-at + xh(t))dt$$
 (5)

and

$$\phi(x, a) = 2(f'(x, a))^2 - f(x, a)f''(x, a), \quad (6)$$

where a prime indicates differentiation with respect to x. The conditions imposed on h imply that these derivatives exist and that

$$f^{(n)}(x, a) = \int_0^\infty h(t)^n \exp(-at + xh(t)) dt$$
 (7)

for n = 0, 1, 2, ... From now on we shall tacity assume that $x \ge 0$ and a > 0.

Proposition 1. $\phi(x, a)$ is a completely monotone function of a.

Proof. By (6) and (7) and the convolution theorem for Laplace transforms $\phi(x, a) = \int_0^\infty e^{-at} g(x, t) dt$, where

$$g(x, t) \equiv \int_0^t (2h(u)h(t-u) - h(u)^2)$$

$$\times \exp(x(h(u) + h(t-u)))du.$$

By symmetry arguments,

$$g(x, t) = \int_0^{t/2} (2h(u)h(t-u) - (h(u) - h(t-u))^2) \times \exp(x(h(u) + h(t-u))) du.$$

To prove the proposition we must show that $g(x, t) \ge 0$ for all $x, t \ge 0$ (see Feller [4, Sect. XIII.4]). Now, since h is concave, h(u) + h(t - u) is increasing in u for $0 \le u \le t/2$, and hence, so is $p(u) \equiv \exp(x(h(u) + h(t - u)))$. The same is valid for $-(h(u) - h(t - u))^2$ and 2h(u)h(t - u), as is easily verified. Therefore Lemma 1 applies and it suffices to show that $g(0, t) \ge 0$ for $t \ge 0$. By (6), (7) and integration by parts we obtain

$$\int_0^\infty e^{-at} g(0, t) dt = \phi(0, a)$$

$$= 2 \left\{ \int_0^\infty e^{-at} h(t) dt \right\}^2 - a^{-1} \int_0^\infty e^{-at} h(t)^2 dt$$

$$= 2a^{-2} \left\{ \int_0^\infty e^{-at} h'(t) dt \right\}^2$$

$$-2a^{-2} \int_0^\infty e^{-at} h(t) h'(t) dt,$$

where we have used the initial and final conditions on k. Finally using the convolution theorem again we get

$$\frac{1}{2}a^{2}g(0, t) = \int_{0}^{t} h'(u)h'(t-u)du - h(t)h'(t)
= \int_{0}^{t} h'(u)(h'(t-u) - h'(t))dt \ge 0,$$

since $h'(t-u) \ge h'(t)$ by the concavity of h. \square

The next proposition, a counterpart to Proposition 1, is a direct consequence of $h(u)^2 + h(t-u)^2 - 2h(u)h(t-u) = (h(u) - h(t-u))^2 \ge 0$.

Proposition 2. If $\psi(x, a) \equiv f(x, a)f''(x, a) - (f'(x, a))^2$, then $\psi(x, a)$ is a completely monotone function of a.

Thus not only $(-\partial/\partial a)^n \phi(x, a) \ge 0$ but also $(-\partial/\partial a)^n \psi(x, a) \ge 0$ for n = 0, 1, ... In particular for n = 0.

$$(f'(x, a))^2 \le f(x, a)f''(x, a) \le 2(f'(x, a))^2.$$
 (8)

In passing we note that the easy part of (8) – the inequality on the left, which corresponds to $\psi(x, a) \ge 0$ – is just a Cauchy–Schwarz inequality. Our next result follows at once from $(\partial/\partial x)^2 f(x, a)^{-1} = \phi(x, a) f(x, a)^{-3} \ge 0$ and $(\partial/\partial x)^2 \log f(x, a) = \psi(x, a) f(x, a)^{-2} \ge 0$.

Corollary. (i) $f(x, a)^{-1}$ is a convex function of x. (ii) f(x, a) is a log-convex function of x.

Choosing $h(t) = \log(1+t)$, a concave increasing function with h(0) = 0, (i) above gives Theorem 1, while (ii) states that $B(x, a)^{-1}$ is a log-convex function of x, the latter result being well known [7].

3. Proof of Theorems 2 and 3

Let $h(t) = \log(1+t)$. Then, in particular, $f(x, a) = m(x, a)^{-1}$ by (1), (2) and (5). Our problem is to determine the number of solutions (x, a), with $x \ge 0$ and a > 0, of the two simultaneous equations

$$\mu = m(x, a), \quad \zeta = z(x, a). \tag{9}$$

We observe that $f(0, a) = a^{-1}$ and $f(x, a) \uparrow \infty$

as $x \to \infty$. Accordingly, m(0, a) = a and $m(x, a) \downarrow 0$ as $x \to \infty$. Also z(0, a) = 1.

Lemma 2. Let x > 0 and a > 0. Then,

$$\max\{0, a - x\} < m(x, a) < a \tag{10}$$

and

$$1 < m(x, a) + z(x, a) < a + 1.$$
 (11)

Proof. Clearly, 0 < m(x, a) < a = m(0, a) for x > 0. Suppose a > x > 0. Then $m(x, a)^{-1} = f(x, a) = \int_0^\infty \exp(-(a-x)t) \exp(-x(t-h(t))) dt < f(a-x, 0) = (a-x)^{-1}$, since t > h(t) for t > 0. This establishes (10). But also x + 1 + m(x, a) - a > 1, so that (11) follows from (3).

From Lemma 2 we conclude that (9) has no solution if $\mu \le 0$ or $\mu + \zeta \le 1$. So from now on we suppose that $\mu > 0$ and $\mu + \zeta > 1$. Note also that if (x, a), $x \ge 0$ and a > 0, is a solution of (9), then $a \ge \mu$ and $a + 1 \ge \mu + \zeta$ with equality if and only if x = 0.

We put $p = (\mu + \zeta)/(\mu + \zeta - 1)$, $q = (\mu + 1)/p$ and observe that p > 1 and

$$\zeta \geqslant 1 \Leftrightarrow q \geqslant \mu. \tag{12}$$

Solving for x in $\zeta = z(x, a)$ we get x = ap - m - 1= p(a - q), by virtue of (3). So we can reformulate our problem as that of determining the number of solutions a, with $a \ge q$, of the single equation

$$F(a) = \mu^{-1}, (13)$$

where F(a) = f(p(a-q), a).

Lemma 3. $F(q) = q^{-1}$, F is convex on $[q, \infty)$ and $F(a) \to \infty$ as $a \to \infty$.

Proof. $F(q) = f(0, q) = q^{-1}$. Furthermore, $F''(a) = \int_0^\infty (-t + ph(t))^2 \exp(-at + p(a - q)h(t)) dt > 0$ and $F(a) > \int_0^{t_0} \exp(a(ph(t) - t)) \exp(-pqh(t)) dt$, where $t_0 > 0$ is chosen such that ph(t) - t > 0 for $0 < t < t_0$, which is possible since p > 1. Obviously, this last integral tends to ∞ as $a \to \infty$.

If $\zeta > 1$, then, in view of (12), $\mu^{-1} > q^{-1} = F(q)$. Hence (13) has at most one solution $a \ge q$, since F is convex on $[q, \infty)$, and at least one, since $F(a) \to \infty$ as $a \to \infty$. This establishes Theorem 2 apart from the case $\zeta = 1$.

To prove Theorem 3 and the remainder of Theorem 2 we observe the following.

Lemma 4. If $\zeta \leq 1$, then F'(q) > 0.

Proof. By integration by parts and [1, (5.1.19)] we have $q^2F'(q) = q^2\int_0^{\infty}(-t + ph(t))\exp(-qt)dt$ = $-1 + pq\int_0^{\infty}h'(t)\exp(-qt)dt = -1 + pqe^q\int_0^{\infty}t^{-1}$ $\exp(-qt)dt > -1 + pq/(q+1) = (m-q)/(q+1)$ > 0, as required, in view of (12).

It now follows with (12) that if $\zeta = 1$, then $\mu^{-1} = q^{-1} = F(q) < F(a)$ for all a > q, so $a = \mu$ is the only solution to (13) in $[q, \infty)$, which completes the proof of Theorem 2.

From (12) and Lemma 4 we also see that if $\zeta < 1$, then $\mu^{-1} < q^{-1} = F(q) \le F(a)$ for all $a \ge q$, so there is no solution to (13) in $[q, \infty)$. This, together with Theorem 2 and the observation that x = 0 if z(x, a) = 1 and m(x, a) > 0, establishes the proof of Theorem 3.

References

- M. Abramowitz and I.A. Stegun, Handbook of Mathematical Functions, National Bureau of Standards Applied Mathematics Series 55, Washington, DC, 1964.
- [2] H. Akimaru, H. Tokushima and T. Nishimura, "Derivatives of Wilkinson formula and their application to optimum design of alternative routing systems", *Proc. 9th Int. Teletraffic Cong.*, Torremolinos, Paper 241 (1979).
- [3] R.B. Cooper, Introduction to Queueing Theory, 2nd ed., Arnold, London, 1981.
- [4] W. Feller, An Introduction to Probability Theory and Its Applications, Vol. II, 2nd ed., Wiley, New York, 1970.

- [5] P. Franken, "Asymptotische Untersuchir z des Überlaufverkeinrs", Wiss. Z. Friedrich-Schiller-Univ. Jena, Math.-Matur. Reihe 14, 235-245 (1-65).
- [6] A.A. Fredericks, "Congestion in blocking systems A simple approximation technique", *Bell System Tech. J.* 59, 805-827 (1980).
- [7] D.L. Jagerman, "Some properties of the Erlang loss function", Bell System Tech. J. 52, 525-551 (1974).
- [8] D.L. Jagerman, "Methods in traffic calculations", AT&T Bell Lab. Tech. J. 63, 1283-1310 (1984).
- [9] K.O. Kortanek, D.N. Lee and G.G. Polak, "A linear programming model for design of communications networks with time varying probabilistic demands", Naval Res. Logist. Quart. 28, 1-32 (1981).
- [10] E.J. Messerli, "Proof of a lonvexity property of the Eclang B formula", Bell System Sech. J. 51, 951-963 (1972)
- [11] C.E.M. Pearce, "On the peakedness of primary and secondary processes", Austral. Telecomm. Res. 12, 18-24 (1978).
- [12] Y. Rapp, "Planning of junction networks in a multi-exchange area. I. General principles", *Ericsson Technics* 20, 77-130 (1964).
- [13] B. Sanders, W. H. Haemers and R. Wilcke, "Simple approximation techniques for congestion functions for smooth and peaked traffic", Proc. 10th Int. Teletraffic Cong., Montreal, Paper 4.4b.1 (1983).
- [14] D.R. Smith and W. Whitt, "Resource sharing for efficiency in traffic systems", *Bell System Tech. J.* 60, 39-55 (1981).
- [15] R. Syski, Introduction to Congestion Theory in Telephone Systems, Oliver and Boyd, Edinburgh, 1960.
- [16] E.A. Van Doorn, "Some aspects of the peakedness concept in teletraffic theory". Electron. Informationsverarb. Kybernet. 22, 93-104 (: 986).
- [17] R.I. Wilkinson, "Theories for toll traffic engineering in the U.S.A.", Bell System Tech. J. 35, 421-514 (1956).